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Species CHa(g) H.O(g) CO(g) H:(g)
Coefficient 1 1 1 3
(mol)
AH_© (k1/mol) —-74.6 —241.8 -110.5 0
=[{1 mol = =74.6 k1/mol) =[(1mol = —=110.5 kI/mal)
Zn AH° + {1 mol = =241.8 kI/mal)] + (2 maol % 0 kl/mol)]
= -316.4 K] =-110.5 k]
o =-110.5 kK1 — (-316.4 k1)
AH = +205.9 K
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Species CO(g) H;O(g) COy(g) Hz(g)
Coefficient 1 1 1 1
(mol)
AdH L0 (KIS mol) -110.5 —241.8 —-393.5 kK1 0
=[{1 mol ®x —110.5 kJ/mol) =[{1 mol = -393.5 kI/mal}
I AdHLO + (1 mol = —241.8 kI/maol)] + {1 mol = 0 kI/mol)]
=-352.3 kI = -393.5 kI
=-=393.5 k1 - (-352.3 k1)
st =-41.2 kKJ
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Species Ny(g) H,(g) NH(g)
Coefficient 1 2 2
(mol)
A2 (k1/mol) 0 0 -45.9
=[{1 mal = 0 kl/mal) = (2 mol = —45.9 k1/maol)
in AH_ D + (3 maol = 0 kKl/mol)] =-01.8 k]
=0k

AH? = —91:8 kJ




